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M.B.A. DEGREE EXAMINATION, DECEMBER 2021
Second Semester
Faculty of Management Science
Core - MB010205 - MANAGEMENT SCIENCE
2019 Admission Onwards
BCACADO7
Time: 3 Hours Maximum Marks: 60

Part A

Answer any five questions. Each question carries 2 marks.

1.  Describe the term optimization.

2. explain the term decision theory.
3. Whatis an optimum basic feasible solution?
4. What is the optimality criterion in assignment problem?
5. List the application of transportation model.
6. Define crashing.
7 What is a saddle point? Is it necessary that a game should always possess a saddle point?
(5%2 = 10 Marks)
Part B

Answer any five questions. Each question carries 6 marks.

8. “Model building is the essence of OR approach.” Discuss.

A manufacturer produces two types of products chairs and tables. Processing of these two products
is done on two machines A & B. A chair requires 2 hours on machine A & 6 hours on machine B. A
table requires 5 hours on machine A & No time on machine B.

There are 16 Hours of time per day available on machine A & 30 hours on machine B. Profit gained
from the chair is Rs.1 and from machine B is Rs. 5. Formulate the LPP.

10. Using vogel's approximation find the initial basic feasible solution to the transportation

problem.
To Supply
7 3 4 2
2 1 3 3
From 3 4 6 3 ’
Demand |4 1 5

11.  Explain the term crashing and discuss it with types of crashing
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The maintenance cost and resale value per year of a machine whose purchase price is Rs. 7000 is

given below. When should the machine be replaced? s
Year | 1 2 3 | 4 | 5 6 7 8
Maintenance I

1200 1600 2100 2800 3700 4700 5900
Cost (Rs.)
Resale value
4000 2000 1200 600 500 400 400 400
(Rs.)
Find the outcome of the following decisions under uncertainty using the maximax and Laplace criterion.
Al | A2 | A3
S1 220 180 | 100
S2 160 190 | 180
S3 140 170 l 200

Explain the methods of decision making
(5x6 = 30 Marks)
Part C
Answer any two questions. Each question carries 10 marks.

Question number 17 is compulsory .

Solve the LPP using simplex procedure:
Max Z = 3x; + 2x)

Subject to constraints:
2%) + X2 >2
3x; +4x3212

x7,x220

A unit of electrical equipment is subject to failure. The probability distribution of its age at failure is

Age at failure

(weeks)

Probability 0.2 0.4 0.3 0.1

Initially 10,000 new units are installed and any unit which fails is replaced by a new unit at the end of
the week in which it fails. Calculate the expected number of units to be replaced in each of weeks 1

to7.

Compulsory Question

Solve the following game problem graphically.

Player B

Player A

1 |2

(2x10 = 20 Marks)
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